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. If the area of the triangle is 36 cm” and the height is 3 cm, the base of the triangle will be

(a) 12cm (b) 39cm (c) 108 cm (d) 24cm
The base in the area of triangle 1s
2.area 2.height height area
(a) == (b) == (¢) —= (d) ——
height area 2.area 2.height
The distance around a circular region 1s known as its
(a) area (b) diameter of circle (¢) circumference (d) radius

The perimeter of square of side 2.5 m is
(a) 10.2 m (b) 10.2 m’ (c) 6.25 m’ (d) 6.25 m

The perimeter of rectangle of length 1.5 cm & breadth 2 cm is
(a) 3.4 cm (b) 7 cm (c) 6 cm (d) 3.5 cm

The area of parallelogram whose base 6 cm & altitude 7 cm 1
(a) 18 cm’ (b) I8 cm (c)9 cm’ (d) 9 cm

The height of parallelogram whose area is 35 cm® and altitude 7 cm
(a) 5 cm (b) 5 cm’ (c) 245 cm (d) 245 cm’

Area of triang’le whose base 1s 15 cm and corresponding altitude 1s 6 cm will be
(a) 45 cm™ (b) 90 cm’ (c) 45 cm (d) 90 cm

Find the area of a right triangle whose base 1s 3 cm, perpendicular 1s 2 cm and hypotenuse 1s 5

CIH.

(a) 3 cm’ (b) 7.5 cm’ (c) S cm” (d) 6cm
What will be tlle area of circular blllt_.ﬂll of radius 7 cm i
(a) 154 cm” (b) 49 cm” (¢) 154 cm (d) 3.14x 7cm”
The circumference of circle whose diameter 1s 14 cm will be
(a) 44 cm (b) 88 cm (c) 44 cm’ (d) 88 cm’
The perimeter of circle 1s its
(a) area (b) circumference (c) radius (d) diameter
Diameter i1s

(a) twice radius (b) half radius (c) equal to radius  (d) one-third of radius

nt(p1) is
(a) ratio of circumference to diameter (b) 21/17
(¢) diameter to circumference (d) 3.41

If the area of _f:ircle is 44 cm” , the area of shaded portion will be
(a) 11 cm‘_; (b) 11 cm.
(¢) 22 cm” (d) 22 cm”
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1. The area of a rectangular sheet is 500 cm”. If the length of the sheet is 25 cm, what is its width?
(a) 20 cm (b) 17 ¢cm (¢) 30 ¢m (d) 25 cm

2. If the area of rectangle increases from 2 cm® to 4 cm’ the perimeter will
(a) Increase (b) decrease (C) remains same (d) none of these

3. The area of a square whose perimeter is 4 m
(a) | m° (b) 4 m’ (¢c) 2 m’ (d) 3m’

4. Which figure encloses more area : a square of side 2 ¢cm ; a rectangle of side 3 cm & 2 ¢cm ;An
equilateral triangle of side 4 cm
(a) rectangle (b) square (c) triangle  (d) same of rectangle & square

5. The area of rectangle whose length is 15 cm & breadth is 6 m
(a) 9000 cm”  (b) 90 cm’ (¢)9 cm’ (d) 900 cm”

6. AABC is 1sosceles in which AE L BC, AE=6cm , BC =9cm, the area of AABC is
(a) 27 cm’ (b) 54 cm’ (c) 22.5 cm’ (d) 45 cm’

7. The area of parallelogram is
(a) base + height (b) base x height (¢) base x base (d) height x height

8. The base in the area of parallelogram is
area height

(a) — (b) (¢) area x base (d) area x height
height area
9. The height in the area of parallelogram 1s
(a) - (b) base (c) area x base (d) area x height
base area

10. Which of the following has the formula : Base x Height
(a) area of parallelogram (b) area of quadrilateral
(¢) area of triangle (d) area of trapezium

11. The area of triangle 1s
(a) base x height (b) % X base x height (c) % X (base + height)(d) base + height

12. The height in the area of a triangle

2. 2 .base bas
(a) areda (b) base (©) ase d area
base area 2.area 2base
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1. Find x such that —?l- = E
X
(a) =5 (b) —40 (c) any number (d) none of these
. T X
2. Find x such that — = —
-3 6
(a) -14 (b) -3 (c) 21 (d) none of these
: 3 X
3. Find x such that - =
(a) =5 (b) -15 (c) -15 (d) none of these
4 Podx i 2w
6 X
(a) 30 (b) 30 (¢c) -6 (d) none of these
: 16
5. Find x such that — = -4
X
(a) 4 (b) 4 (c) 2 (d) none of these
5. Findxsuchthet —> w2
X
(a) 24 (b) -12 (c) 24 (d) none of these
7. Find x such that _? and % are equivalent rational numbers.
(a) 3 (b) 9 (c) 8 (d) none of these
8. Find the value of Z . ‘:
(a) 6 (b) -6 * (c) 1 (d) none of these
9. Find the value of 35 " ‘g
(a) -1 (b) 0 (¢c) ] (d) none of these
10. Find the value of 3 X —2
10 3
(a) 5 (b) % (c) _?l (d) none of these
: : 2
11. Find the value of (-6) +§

(a) -9 (b) 9 (c) 4 (d) none of these
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1. Associative property 1s not followed in

(a) whole numbers (b) integers  (c¢) natural numbers (d) rational numbers
2. is the identity for the addition of rational numbers.
I
(a) | (b) 0 (c) -1 (d) >
3 is the multiplicative identity for rational numbers.
I
(a) 1 (b) 0 (c) -1 (d) -
2
4. The additive inverse of -;—;- IS
7 7
(a) 1 (b) O c)—— (d) —
S5 S
S. Zero has reciprocal.
(a) | (b) 2 (c) 3 (d) no
6. The numbers and are their own reciprocals

(a) landO(b) l and -1 (c¢)—-1and O (d) none of these.

7. The reciprocal of — 5 1s

] |
(a) 5 (b) 1 (c) —— (d) —
D 5
8. Reciprocal of L , where x= 0 1s
X
(a) | (b) x (c) 0 (d) none of these
9. The product of two rational numbers is always a
(a) whole numbers (b) integers  (c¢) natural numbers (d) rational numbers
-4 3 15 (-14
10. Simplity: X
pity 5 § 7 16 }{ Y }
|
(a) 1 (b) 0 (c) 2 (d) E
: . -5 F
11. The sum of the rational numbers E and E 1S
-7 ~11 13 |
ol B e = i -
(a) 28 (b) 30 (C) 18 (d) 3
7 4
12. What number should be added to T to get T ?
19 11 51 ]
B i - d) —
(a)ﬁﬂ()m (cJﬁﬂ ()2.0



